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Eﬁg TREOBBOEIENDKRES TREDHEEILNDRES TREOBBOEIENDOKRES TREDOHBEEILADKRES
&5 X 4 ﬁ:c; Tﬁﬁ“ﬁh\(i)o)ﬁﬁﬁﬁ jj(gilitrf)é X 4 ﬁﬁﬁgﬁgﬂfw ﬁf jj(lfr?litrf)é X 4 ﬁq&; J:ﬁﬁ“ﬁzﬁ\(ﬁ)(btt% jj(gilitrf)é X 4 J:ﬁﬁ;ﬁ\(ﬁ)(btt% ﬁf jj(lfr?litrf)é
P 100kN/m#E 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZEBZ D - ~ — — —
Thilst 1.00 | 000 ~ 476 59.30 | #nhst | 000 ~ 476 1.77 9.48 Thilst 1.00 | 6.00 ~ 56.00 59.30 | EnLSY | 5,00 ~ 500\ 1.77 9.48
2 100kN/ Mm% 2 % — -~ - —|3mZEERD| — ~ — — — | 100kN/ %82 % — - ~ — —|3mZi#BZ % - ~ — — -
Thilst 1.00 | 0.00 ~ 7.50 95.81 | #hst | 000 ~ 000 1.71 913 Thilst 1.00 | 6.00 ~ 993 95.81 | #hs | 65,00 ~ 9.93)| 1.71 913
3 100kN/ Mm% 2 % — -~ - —|3mZEERD| — ~ — — — | 100kN/ %82 % — - ~ — —|3mZi#BZ % - ~ — — -
Thilst 1.00 | 000 ~ 756 96.79 | =nhs | 000 ~ 756 1.76 9.40 Thilst 1.00 | 6.00 ~ 9.98 96.79 | TR | 5,00 ~ 998 | 1.76 9.40
4 100kN/m#E# 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZBZ B - ~ — — —
ThList 1.00 | 0.00 ~ 526 65.55 | Tnst | 000 ~ 0.00| 1.59 8.48 ThList 1.00 | 6.00 ~ 6.05 656.65 | NS | .00 ~ 603 1.59 8.48
5 100kN/m#E# 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZBZ B - ~ — — —
ThList 1.00 | 0.00 ~ 526 65.53 | NSt | 000 ~ 000 1.58 8.48 ThList 1.00 | 6.00 ~ 6.05 65.63 | NS | .00 ~ 603 1.58 8.48
P 100kN/m#E 2 % — -~ = —[3mEBRB — ~ — — — | 100kN/M#Z#B% % — - ~ — —[3mZBZ B - ~ — — —
Thilst 1.00 | 0.00 ~ 4.75 59.21 | #hst | 000 ~ 4.75| 1.78 9.52 Thilst 1.00 | 6.00 ~ 5.00 59.21 | #hst | 600 ~ 6.00)| 1.78 9.52
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M8 2 % ~ 3ImE RS ~
Zzhpst ~ ZhLst ~ Zzhst ~ ZhLst ~
100kN/ Mm% 2 % ~ 3mEEZD ~ 100kN/ M2 % ~ 3ImE R D ~
Zzhpst ~ ZhLst ~ Zzhst ~ ZhLst ~
100kN/m#E 2 % ~ IMEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
ZnList ~ st ~ ZnList ~ st ~
100kN/m#E {2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ 3ImEBR D ~
ZnList ~ st ~ ZnList ~ s ~
100kN/mM#E 2 % ~ ImEEBZD ~ 100kN/ Mm% 5 ~ ImEBR D ~
Zzhpst ~ Zh Lt ~ Zzhst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M8 2 % ~ 3ImE R D ~
st ~ ZnLst ~ Zzhst ~ ZnLst ~
100kN/ Mm% 2 % ~ 3mEEZ D ~ 100kN/ M2 % ~ 3ImE R D ~
Zzhpst ~ ZnLst ~ Zzhpst ~ ZnLst ~
100kN/m#E 2 % ~ ImEEBZD ~ 100kN/ Mm% 5 ~ ImEBZ D ~
ZnList ~ st ~ ZnList ~ Zznst ~
100kN/ Mm% 2 % ~ ImEBZD ~ 100kN/ Mm% 5 ~ 3ImEBR D ~
ZnList ~ ZznLst ~ ZnList ~ ZnLst ~




